Sr Questions Answers Choice

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">didn't
he</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
. . . variant-caps: inherit;">doesn't
Mr. Manoj teaches very well,isn? it? he<,span>p
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">wasn't
he</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">if not
he</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">didn't
he</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
. . . variant-caps: inherit;">doesn't
Mr. Manoj teaches very well,isn? it? he<,span>p
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">wasn't
he</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">if not
he</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">unless |
am</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
| shall not gountill | aminvited. variant-caps: inherit;">till | am</span>
3 C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">once |
am</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">if not |
am</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">hell bent
on</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">hell bent
of</span>

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-

T S P U S T Y

They arehell bent atgetting what is due to them.



variant-caps: INNeriy; >neil pent
after</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">were
waiting</span>

Peopleare waitingfor the train at platform for long.
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">has
waiting</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">have
waiting</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">covered
along</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-

. . variant-caps: inherit;">covered
Due to rain, cricket ground wascovered bya carpet into</spanp>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">covered
upon</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
If you come across my keys, bring it to me,can you? gﬂant;caps inherit;">don’t you ?
'span
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">isn't it ?
</span>
D. <span style="font-family: Georgia,
&quot;Times New Roman&quot;,
Times, serif; font-size: 16px;">No
improvement</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-

variant-caps: inherit;">avoid to
made</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">avoid
make</span>

You shouldavoid to makesuch stupid mistakes

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">avoid to
have</snan><ol stvle="outline: none:
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Sheelatold her teacherto explain the chapter once again

The furniture in this roomaremade of teak

He suggested that, we should be bound by a code of conduct,isn? it

Jeanswasnot permitted in out college

margin: Opx; padding: Opx; border:
0px; font-variant-numeric: inherit;
font-stretch: inherit; line-height:
inherit; font-family: robotoregular,
sans-serif; list-style: none;"><li></li>
</ol>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">ordered her
teacher</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">invited her
teacher</span>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">said to her
teacher</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">have</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">had</span>

D. <ol style="outline: none; margin:
Opx; padding: Opx; border: Opx; font-
variant-numeric: inherit; font-stretch:
inherit; line-height: inherit; font-family:
robotoregular, sans-serif; list-style:
none;"><li>None of above</li><li></li>
</ol>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">is it</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">aren't
we</span>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">None of
above</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">had</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">will</span>

D. have

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">put out
in</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;

fant vinariant linatiiran: inhArvit: fAnt
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When it was morning they decided toput atan inn

| am tired asl am workingsince 7 O'clock in the morning

solve as per the directiongiven above

Solve as per the directiongiven above

Solve as per the directiongiven above

solve as per the directiongiven above

onevalialic-nyduui es. eI, 1ri-
variant-caps: inherit;">put off
at</span>

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">put at</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">l was
working</span>

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">l had been
working</span>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">[ will be
working</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Most of the
members at the meeting felt</span>
B. <span style="color: rgb(0, 0, 0);
font-family: arial;">That the group
appointed for investigating the
case</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Will you please
buy</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Some jaggery for
me</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">If you go to the

market</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Because it
penetrates deepdown (beinglight and
non-sticky) and works from
within</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">(Because of its
ayurvedic ingredients) to keep skin
blemish, free and helps cope with
cuts nicks, burns and nappy rash.
</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">He will certainly
help you</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">In a pleasant
manner</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>
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Solve as per the directiongiven above

solve as per the directiongiven above

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Shedding tears at
the plight of the villagers</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Rendered
homeless by a devastating
cyclone</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Mr. Praful
Patel</span><table class="bix-tbl-
options" id="tblOption_160"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"></tbody></table>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">For the last one
month</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>
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